FIERMBUR T2 —Fv—HhvT

BF
1~2F 5 DE
Kigm EARE
1| HBARIEHE | 2 Bmnt 5L 28.750
2| HBKEHE | 2 =5 1=H 27.100
3| HOEKEHE | 1 oFSEF LF 26.700
4] HDKREHE [ 1 B2 =N 26.650
5| HDABREE | 2 | =HhE HEDT T 26.550
6| HOKEHE | 2 HEMIEDOL [FE 26.500
7| HOKEHE | 2 &5 LA 25.950
8| HOKEHE | 1 PFELE F5L 25.500
9| HBKIEH=E | 2 2L (£5F 25.150
10| HIRIEHE [ 1 =t MhFTED 25.000
Kigmit B
R
1| HBARIEHE | 2 BmntE 5L 9.800
2| HIBKEHE | 2 =i 1=H 9.500
3| HOEKEHE | 1 oFSEF LEF 9.400
4] HOKREHE [ 1 B2 =N 9.350
5| HiBKEHE | 2 &5 LA 9.200
6| HOKEHE | 2 EMIEOL [FKE 9.150
B 5
1| HBARIEHE | 2 BmntE 5L 9.500
2| HDABREE | 2 | =HhE HEDT T 8.800
3| HOEKEHE | 1 B2 =N 8.700
4] HOKREHE [ 1 oFSEF LF 8.550
5| HiBKEHE | 2 =i =& 8.500
6| HOKEHE | 2 EMIEDOL [FE 8.400
KAE
1| HBARIEHE | 2 Bmnt 5L 9.450
2| HiBKEHE | 2 =i =& 9.100
3| HBKEHE | 2 EMIEDOL [FE 8.950
4] HOKREHE [ 1 oFSEF LEF 8.750
5| HDABREE | 2 | = HEDT T 8.650
6| HIOEKEHE | 1 B2 =N 8.600
SHSEESH 198 (1)

MIMLRIAEE




